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Question 
Maximum 

Mark 

Mark 

Awarded 

1 3  

2 3  

3 7  

4 3  

5 3  

6 2  

7 3  

8 3  

9 2  

10 6  

11 5  
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(e) 
�

�.��
           [1] 

……………………………………………………………………………………………………………………………………

……………………………………………………………………………………………………………………………………

……………………………………………………………………………………………………………………………………

…………………………………………………………………………………………………………………………………… 

 

 

 

 

 

 

 

 

 



4. (a) A fair, six sided dice is rolled. 

What is the probability that a 3 is not shown on the dice? 

Circle your answer.         [1] 

 

 56%  
�

�
  5:6  5.6  

�

�
 

 

 (b) 120 raffle tickets were sold at a fete. 

  Sian has a 30% chance of winning the top prize. 

  How many tickets did Sian buy?       [1]  

…………………………………………………………………………………………………………………………………………………………

…………………………………………………………………………………………………………………………………………………………

…………………………………………………………………………………………………………………………………………………………

………………………………………………………………………………………………………………………………………………………… 

(c) A bag contains a mixture of blue beads, yellow beads and pink beads. 

 One bead is taken at random from the bag. 

 The probability that the bead is yellow is 
�

�
  

Which of the following sets of beads could have been in the bag? 

Circle your answer.         [1] 
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6. Team A and B play in a competition. 

 

Team B has 8 more points than Team A. 

Team B has three times as many points as Team A. 

 

 
 

7. A fraction is written as 
�

�
 

• The fraction is a multiple of 0.1 

• The fraction is smaller than 
�

�
 

• The fraction is more than 35% 
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10. (a) Express 1200000 in standard form. [1] 

 

……………………………………………………………………………………………………………………………………………… 

 

(b) Express 0.000051 in standard form. [1] 

 

……………………………………………………………………………………………………………………………………………... 

 

(c) Calculate the value of  
	.
 × ��




� × ����
 , giving your answer in standard form [2] 

 

…………………………………………………………………………………………………………………………………………………………………………

…………………………………………………………………………………………………………………………………………………………………………

……………………………………………………………………………………………………………………………………………………………………….. 

 



10. (d) Calculate the value of (3.6 x 104) + (9.8 x 105), giving your answer in standard form [2] 

…………………………………………………………………………………………………………………………………………………………………………

…………………………………………………………………………………………………………………………………………………………………………

……………………………………………………………………………………………………………………………………………………………………….. 

11.  

 

   

 

 

 

 

 

 

 

 

 

 (c) The number 387 420 489 is equal to 318. 

  Explain how this tells you that 387 420 489 is a square number    [1] 

 

…………………………………………………………………………………………………………………………………………………………………………

…………………………………………………………………………………………………………………………………………………………………………

……………………………………………………………………………………………………………………………………………………………………….. 

 

 

 

 

 

 

 


